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1. OIUC HABYAJIbHOI JUCHUILIIHU

MerTta

Mera BHWBYCHHS IHO3EMHOI MOBH Y HEMOBHOMY BY31 —
HiArOTYyBaTH CTYJICHTA JI0 YATAHHS aHTJIOMOBHOI JIiTepaTypH 3a
dbaxoM, CHIIKYBaHHS aHIJIIHCBKOIO MOBOIO B PI3HHX BHJaX
MOBHOI JIISUTBHOCTI, MOKJIMBOCTI BHUKOPHCTaHHS aHTJIIMCHKOI
MOBH y MPAKTHYHUX ITiISX.

KomMmriiereHTHICTD

K 01 3gatnicTh 10 aganTarii i aii B HOBi# cUTYyaIii.

K 03 31aTHICT CITKYBATHUCS 3 IPEICTABHUKAMU 1HIIIMX

podeCitHUX TPYI PI3HOTO PiBHA (3 EKCIIEPTAMH 3 THIITNX
rayry3eil 3HaHb/BHIIB €KOHOMIYHOI AiSUTHHOCT).

K 04 3paTHicTh npaitoBaTé B MI>KHAPOJIHOMY KOHTEKCTI.

Pesynbrar
HaBYaHHS

ITP 02 3actocoByBaTH CBOI 3HAHHS JIsl BUBHAYEHHS 1
BUPIIIECHHS TPOOJIEMHUX NMUTAHD 1 MPUHHATTS OOTPYHTOBAHUX
pIlIEHBb B HAyKax Mpo 3eMIIIO.

IIP 03 Bwmitu choinkyBaTucs 3 (axiBIsIMU Ta EKCIEpTaMH
pI3HOrO PIBHS IHIIUX Taly3ed 3HaHb, y TOMY 4YHCII B
MDKHApPOJHOMY KOHTEKCTi, B TJIOOATIbHOMY i1H(MOpMaIiiHOMY
CepeOBUIIII.

ba3oBi 3HAHHSA

3HaTH:

1. I'pamatuyHi paBuiIa, rpaMaTHYHI KOHCTPYKIIT 115
YCHOTO Ta MUChbMOBOTO MEPEKIIaTy aHTJIOMOBHHUX TEKCTIB
Ta BUKJIAy 1H(GOpMALIiT;

2. JlexcmuHuii MiHIMYM OJMHMITH 3 TPOTPAMHHUX TEM KYpCY.

ba3oBi BMiHHA

Bwmitu:

1. MOSICHIOBATH IpaMaTU4HI MPaBUIIA;

2. BIII3HABATH, PO3PI3HATU Ta MEpPEKJIaJaTH PiI3HOMAHITHI
rpaMaTH4H1 KOHCTPYKIIIi;

3. PO3yMITH MOHOJIOTIYHI TIOBIJJOMJIGHHS 3 3aCTOCYBaHHSIM
NEBHUX IPAaMaTUYHUX KOHCTPYKIIIH;

4, 3aCTOCOBYBATH TpaMaTUYH1 IIpaBUiia Ta KOHCTPYKIII B

NepeKJIaji TEeKCTIB, 11aJOTIYHOMY MOBJICHH] Ta Ha MHUCHMI.

ba3oBi HaBUYKH

1. BuxopucToByBaTHM TpaMaTU4yHI MNpaBuia [UIsl TEpeKiIamry
TEKCTIB 3 aHTIIMCHKOT MOBH Y TIPAKTUYHUX IIUJISX.

2. BxwuBatu rpaMaTHyHi KOHCTPYKIIi B YCHOMY MOBJICHHI Ta
nepeKasi TeKCTIB 3 MPOTPAMHUX TEM KYpCy.

[ToB’s13ani
cuiiadycu

«IHO3emMHa MoBa 3a podeciitHUM CpsIMyBaHHSIM»
I cemectp

[Tonepenns
JTACLIMILTIHA

HacrymnHa
IUCHAIUIIHA

KinpkicTe roquu

JIEKIT:
npaktuyHi 3aHaTTs: 60 y Il cemectpi;
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71a60paTOPH1 3aHATTS:
CEeMIHapChK1 3aHSTT:

caMocTiifHa po6oTa ctyaeHTiB: 60 y Il cemecTpi

Il cemecTp

2. MPOI'PAMA HABYAJIbHOI JTUCHUILJIIHU

2.2. llpaktuuni moayni Il cemectpy

KinbkicTs rogun

Kon HasBa moayns ta tem aymutopri | CPC
3M- 15 10
3 | 1. a) The Ecosystem. Famine and Flood. 3 2
b) IMepexan Tekcry 3a paxom (8000 ap. 3HAKIB) 3 2
¢) Iepexnazn CyCHiIbHO-TIOMITHIHOTO TEKCTY 3 2
(2500 mp. 3HaKIB)
d) Grammar: The Infinitive 4 2
2. MoaynbpHa KOHTpOJbHA poboTa Ne 3 2 2
3M- 15 10
I14 | 1. a) Global Warming. Kyoto Revisited. 3 2
b) Ilepexnan Tekcry 3a paxom (8000 ap. 3HAKIB) 3 2
¢) Ilepexian cycniibHO-MIOITUYHOTO TEKCTY 3 2
(2500 mp. 3HAKIB)
d) Grammar: The Gerund 4 2
2. MonynbsHa KOHTposibHA poOoTa Ne 4 2 2
3M- 15 10
I15 | 1. a) Natural Wonders of the World. 3 2
b) Ilepexmnan Tekcry 3a paxom (8000 np. 3HAKIB) 3 2
c) Ilepekian cycnigbHO-TIOITUYHOTO TEKCTY 3 2
(2500 mp. 3HAKIB)
d) Grammar: The Participle 2 1
e) Grammar: Indirect speech 2 1
2. MonynpHa KOHTposibHA poboTa Ne 5 2 2
3M- 15 10
I16 | 1. a) Decision-making on the Solution of Ecological | 3 2
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Problems.
b) Ilepekian Tekcty 3a paxom (8000 ap. 3HAKIB) 3 2
c) Ilepekinan cycnijibHO-TIOTITUYHOTO TEKCTY 3 2
(2500 mp. 3HAKIB)
d) Grammar: The Conditional Sentences 2 1
e) Grammar: Subjunctive mood. 2 1
2. MopaynpHa KOHTpOJbHA poboTa No 6 2 2
Icriut 20
60 60
Paszowm:
Koncynpraii:

1. [loroBa-Hikonenko I'.B., noneHT, k. pinoa. HayK, AOLEHT, BIBTOPOK 9.00 —
13.00, aynuropis 607.

2.3. CamocrTiiiHa poboTa cTyieHTa Ta KOHTpoJibHI 3axoau y |l cemecTpi

Kon ) KutpkicTh Ctpok
3aBnanHa Ha CPC Ta KOHTPOJIbHI 3aX01H
MOTYJISI TOAWH | IPOBEICHHSA
3M-II3 10 1-4
THXKIEHD
e [linroTOBKA 10 YCHOTO ONMUTYBAaHHS, 2 1 Twxneun
M1JITOTOBKA TPaMaTUYHOI TEMH Ta MiATOTOBKA
JIOMAIIHBOTO YHUTAHHS
e [linroTOBKA 10 BUKOHAHHS MOAYJILHOI 2 2 THXKIEHD
KOHTPOJBHOT po6oTu Ne 3 (060B’A3K0BE)
Konmponwvni 3axoou:
e YCHE ONUTYBaHHS 2 2 THOKJIEHD
o [lepeBipka MMCHbMOBO BUKOHAHUX CIIHCKIB 2 3 TXKIEHB
HE3HAMOMHMX CJIIB Ta IX MepeKIIaj s yCHOTO
NepeKIaay TeKCTiB
o [lepeBipka NMCbMOBO BUKOHAHUX 2 3 TUXKIEHb
rpaMaTHYHUX BIIPaB
e MonaynbHa KOHTpOJIbHA pob6oTa Ne 3 4 TIKJICHB
3M-114 10 4-8
THXKJIEHD
o [TigroTOBKa 10 YCHOTO OMUTYBaHHH, 2 4 TIKICHD
MiTOTOBKA TPaMaTUYHOI TEMH Ta TMiATOTOBKA
JIOMaITHBOTO YHUTAHHS
o [lixroTroBKa 10 BUKOHAHHS MOJ1YJIBHOI 2 S THKIEHb
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KOHTPOJIbHOT po00TH Ne 4 (060B’s13K0BE)
Konumponwhi 3axo0u.

e YCHE ONUTYBaHHS 2 5 TmxeHn
e [IepeBipka MMCHMOBO BUKOHAHUX CITUCKIB 2 6 THXIEHb
HE3HAHOMUX CIIIB Ta iX IepeKsIaj Ajisl YCHOTO
nepeKIIay TeKCTIB
o [lepeBipka MMCbMOBO BUKOHAHUX 2 [ THXKIEHb
rpaMaTHYHUX BIIPaB
o MoaynpHa KOHTpOJIBHA poboTa No 4 8 TIKIeHb
3M-II5 10 8-12
THXICHb
e [liroTOBKA 10 YCHOTO ONMUTYBaHHS, 2 8 THXIeHb
M1JITOTOBKA IpaMaTUYHO1 TEMHU Ta IMiATOTOBKA
JIOMaITHHOTO YHTAHHS
* [ligroToBKa 10 BUKOHAHHS MOYJIbHOL 2 9 THXXIEHD
KOHTPOJIbHOT poOoTH Ne 5 (060B’A3K0BE)
Konmponwvni 3axoou:
e YCHE ONUTYyBaHHS 2 9 THXIEHD
« [lepeBipka NMCHbMOBO BUKOHAHUX CITUCKIB 2 10 Tk neus
HE3HAMOMHMX CJIIB Ta IX MEepeKIIa I YCHOTO
NepeKIaay TeKCTIB
o [lepeBipka MMCbMOBO BUKOHAHUX 2 11 TwxaeHp
rpaMaTHYHUX BIIPaB
« MonynbpHa KOHTpOJIbHA poboTa No 5 12 TrwxeHpb
3M-I16 10 12—-15
TH)XIEHD
e [liroTOoBKa 10 YCHOTO ONMUTYBaHHS, 2 12 THXICHD
MIJTOTOBKA IpaMaTUYHO1 TEMHU Ta IMArOTOBKA
JIOMAIIHBOTO YHUTAHHS
* [linroTOBKA O BUKOHAHHS MOIYIHHOL 2 13 THKIEHD
KOHTPOJIbHOT poO6oTH Ne 6 (000B’A3K0OBE)
Konmponwhi 3axoou:
e YCHE ONUTYBaHHS 2 13 TKIEHb
e [lepeBipka MMCHbMOBO BUKOHAHUX CITUCKIB 2 14 THXKICHB
HE3HAHOMUX CIIIB Ta iX MepeKsIa Ajisl YCHOTO
MepeKaay TEKCTIB
o [lepeBipka MMCHMOBO BUKOHAHUX 2 14 THKIEHD
rpaMaTHYHUX BIIPaB
» MonynpHa KOHTpOJIBbHA poboTa Ne 6 15 THKIEHD
[TinroToBka 10 iCIUTY 20 Cecis
Konmponwhi 3axoou:
e IcimT
Pazowm: 60




1. MeTtoarka IPOBEICHHS Ta OHiHI-OBaHHSI KOHTPOJIBHOI'O 3aX04y AJIA 3M-II3.

MiHIMaIbHUH 00CcAT 0a30BUX 3HAHB, 1110 HEOOX1AHUH I 3acBoeHHS 3M — I13:

— YHWTaTH, MMEepeKIaNaTu Ta nepekasyBatu Tekctu “The Ecosystem”, “Famine
and Flood”;

— BU3HAYUTHU XaPaKTEPUCTUKU BXUBAHHS Ta MIEPEKIAAy TPAMAaTHUYHUX SBHUII]
3a Temoro «Iudinitusy» (The Infinitive);

— HABYUTHCS YTBOPIOBATH Ta BXKUBATH Pi3HI rpaMaTuyHi GopMu 1HQIHITUBA;

— YHUTaTH, IEPeKIIaaTH Ta aHOTOBAHO MEpPEeKa3yBaTH TEKCTH 3a (paxoBOrO
TEMAaTHUKOIO.

MakcumanbHa cyma 6aJjiiB 3a 000B’s13k0Bi 3ax0au kKoHTpoaw 3 3M-II3 — 25
oaJiB:

1 3aBnannasg — 19 Oaiis:

JuB. Tabm. 2.2

a) 5(1+1+1+2)
1 — yuTaHHS TEKCTY aHTIIHCHKOI0 MOBOO
1 — ciucok He3HAMOMMX CJIIB Ta 1X MepeKiIaa
1 — ycHui#l nepeknaa TEeKCTy
2 — mepeKas TeKCTy

b) 5(1+1+2+1)
1 — yuTaHHS TEKCTY aHTJIIHCHKOI MOBOIO
1 — ciucok He3HAMOMMX CIIIB Ta 1X MepeKiIaa
2 — IIChbMOBE BHKOHaHE Summary
1 — ycue Summary

c) 5(1+1+2+1)
1 — yuTaHHS TEKCTY aHTJIIHCHKOIO MOBOO
1 — cicok He3HAHOMUX CIIIB Ta iX MepeKIa
2 — IMChMOBE BUKOHAHE Summary
1 — ycue Summary

d) 4(2+2)
2 — MMCbMOBHUI KOHCIIEKT mpaBuJ 3a Temoro The Infinitive
2 — MMChbMOBO BUKOHAHHI IpaMaTH4Hi BpaBu 3a TeMoro The Infinitive



1 3aBmanHs (19 6aniB) He € 000B’I3KOBUM.

2 3aBaaHHsd — 25 OaiiB:

Buxonanug MKP Ne 3

MonynpHa KOHTpOJIbHA poOoTa ckianaeThes 3 30 3aBaanb. KoxkHe 3aBmaHHs
0,83 OGaym. MomynbHa KOHTPOJBHA POOOTAa BBAXKAETHCSA 3apPaxOBaHOIO, SKIIO
HaJaHO MiHIMYM 18 mpaBuIbHUX BiAMOBIIEH.

Axmo 3axoau 000B’A3KOBUX (POPM KOHTPOJIIO BHKOHYIOTHCS CTYAEHTOM
HICTsl CTPOKIB, BU3HAYEHUX y IPOrpaMi HaBYAIbHOI IUCLHUIUTIHHU, KIJTIBKICTh OaiB,
10 MOXXE€ OTPUMAaTHU CTYACHT, He MOXe nepeBuiryBaTd 60% Biag MakCcUMalIbHO
MO>KJIMBOI JUISI 11i€1 JOPMHU KOHTPOJTIO.

Ominka 3a okpemi (200 yci) MOAYJi 3HMXKYEThCS Y pa3i MPOMYCKIB 3aHITh
CTYACHTOM. 3a KOXKHE IMPONYLIEHE 3aHATTA 3HMWXKYeThes 0,5 Oanu, aje MiHIMallbHA
OLIIHKA MICIIsl 3HWKEHHS He MOXke OyTu Huk4ua 60% BiJl MaKCHMaIbHO MOKIIUBOI.

MakcumanbHa cyMa 000B’s13k0Bux OaiiB 3 3M-I13 — 25 Ganis.

2 3apaaHHs (25 0aiiB) € 000B’ I3KOBUM.

2. Metonuka npoBEIEHHS Ta OIIHIOBAHHSA KOHTPOJBLHOTO 3axoay it 3IM-T14.

MiHiMaabHUH 00cAT 0a30BUX 3HAHD, 1110 HEOOX1AHUH I 3acBocHHS 3M — [14:

— YHTaTH, Nepekyaaaty Ta nepekasyaru texctu “Global Warming”, “Kyoto
Revisited”;

— BU3HAYaTH XapaKTEPUCTUKHU BKUBAHHS Ta MEPEKIIaAy IPaMaTHUYHUX SBUIIL 32
temoro «I[ epynnii» (The Gerund);

— HAaBYMTHCS YTBOPIOBATH Ta BXKMBATH PI3HI rpaMaTU4H1 (OPMHU FePYHIIS;

— YHUTaTH, NepeKiIajaTh Ta aHOTOBAHO MepeKa3zyBaTH TEKCTH 3a (PaxoBoro
TEMaTHKOIO.

MaxkcumanbHa cyma 0ajiB 3a 000B’SI3K0Bi 3ax0aM KOHTpo.0 3 3M-II4 — 25
OaJiB:

1 3aBmadasg — 19 GaiB:

JuB. Tabm. 2.2

a) 5(1+1+1+2)



1 — yuTaHHS TEKCTY aHTJIIHCHKOIO MOBOIO

1 — cnicok He3HAHOMUX CIIIB Ta iX MepeKia
1 — ycHu#t nepexaa TeKCTy

2 — miepeKas TeKCTy

b) 5(1+1+2+1)
1 — yuTaHHS TEKCTY aHTJIIHCHKOIO MOBOTO
1 — cicok He3HAHOMUX CIIIB Ta iX TepeKIa
2 — IMChMOBE BHKOHaHE Summary
1 — ycue Summary

c) 5(1+1+2+1)
1 — yuTaHHS TEKCTY aHTJIIHCHKOIO MOBOIO
1 — cnicok He3HAHOMUX CIIIB Ta iX MepeKia
2 — MMChMOBE BUKOHAHE Summary
1 — ycue Summary

d 4(2+2)
2 — MMCHbMOBHI KOHCIIEKT MpaBuiI 3a Temoro The Gerund
2 — MICHhMOBO BHKOHAHHI rpaMaTH4Hi BIpaBu 3a Temoro The Gerund

1 3aBmanHs (19 GaniB) He € 000B’ I3KOBUM.

2 3aBaaHHs — 25 OaiB:

Buxkonanusg MKP Ne 4

MonynbpHa KOHTpoJibHA poOoTa ckianaeThes 3 30 3aBaanb. KoxkHe 3aBnaHHs
0,83 Gamu. MoaynbHa KOHTPOJbHA POOOTAa BBAXKAETHCS 3aPaXOBAHOIO, SKIIO

HaJaHO MiHIMYM 18 npaBUILHUX BiAMOBIICH.

Sxuio 3axoau 00OB’SI3KOBUX (HOPM KOHTPOJIFO BUKOHYIOTHCSI CTYICHTOM
HiCTsl CTPOKIB, BU3HAYEHUX Y IIPOrpaMi HaBUYAIbHOI IUCLUUIUTIHHU, KIJIBKICTh OaiB,
0 MOXK€ OTpUMAaTH CTYAEHT, HE Moxke mnepeBuuryBatd 60% Bil MakCHUMAalIbHO

MOXJIMBOI1 JUIs 11i€1 (HOPMU KOHTPOJIIO.

Ominka 3a okpemi (200 yci) MOAYNI 3HMXKYEThCS Y pa3i MPOMYCKIB 3aHITh
CTYJIEHTOM. 3a KOKHE MPOMYIIECHE 3aHATTS 3HWKY€eThcs 0,5 Oanu, ajne MiHIMalbHA
OLIIHKA MiCIIsl 3HWKEHHS He MOXke OyTu Hmk4da 60% BiJl MaKCHMaIbHO MOKIIUBOI.

MaxkcumanbHa cyma 000B’sa3k0Bux 6anis 3 3M-I14 — 25 Ganis.

2 3aBnanHs (25 6aiB) € 000B’I3KOBHUM.



3. MeToarKa IPOBEJICHHS Ta OHiHI-OBaHHH KOHTPOJIBHOI'O 3aX04y AJIA 3M-II5.

MiHIMaIbHUH 00cAT 0a30BUX 3HAHB, 1110 HEOOX1AHUH U1 3acBoeHHS 3M — I15:

YMTATH, MepeKkaanatu Ta nepekasyBatu Tekctu “Natural Wonders of the
World”;

BH3HAYATH XapaKTEPUCTUKH BKUBAHHS Ta MEPEKIaay TpaMaTHYHMX SIBHIIL 32
temoro Participle I Ta Participle II;

HABYMTHUCS YTBOPIOBATH Ta BXXHUBATH pi3Hi (hopmu Participle I a II;
BU3HAYATH XapaKTEPUCTUKKA BXKMBAHHS Ta MEPEKIIaay rPaMaTHUHUX SBHUIII
3a Temoro Indirect Speech;

HABYHMTHCS YTBOpIOBAaTH Ta BxkuBaTH Indirect Speech;

YUTATH, MIEPEKIIAJAaTH Ta AHOTOBAHO TIEPEKa3yBaTH TEKCTH 3a (PaxOBOIO
TEMaTHKOIO.

MaxkcumanbHa cyma 0ajiB 3a 000B’A3K0Bi 3ax01u KOHTPoJ0 3 3M-II5 — 25
OaJiB:

1 3aBnannasa — 20 Oais:

JuB. Tabm. 2.2

a) 4(1+1+1+1)

1 — yuTaHHS TEKCTY aHTJIIHCHKOI MOBOIO

1 — ciucok He3HAMOMMX CIIIB Ta 1X MepeKiIaa
1 — ycHu# mepekaa TeKCTy

1 — mepekas TekcTy

b) 4(1+1+1+1)

1 — yuTaHHS TEKCTY aHTJIIHCHKOI MOBOO

1 — cicok He3HAHOMUX CITIB Ta iX MepeKIa
1 — nuceMoOBe BUKOHaHE Summary

1 — ycue Summary

c) 4(1+1+1+1)

1 — yuTaHHS TEKCTY aHTJIIHCHKOI MOBOIO

1 — ciucok He3HAMOMMX CJIIB Ta 1X MepeKiIaa
1 — nuceMoOBe BUKOHaHE Summary

1 — ycue Summary

d 4(2+2)

2 — MMCHMOBHUI KOHCIIEKT TpaBwmiI 3a Temoto The Participle
2 — MMCHhMOBO BHKOHAHHI rpaMaTH4Hi BIpaBu 3a Temoto The Participle
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e) 4(2+2)
2 — MMCHMOBHUI KOHCIIEKT mpaBuJ 3a Temoro Indirect Speech
2 — MMCbMOBO BUKOHAHHI rpaMaTH4Hi BIpaBu 3a TeMoro Indirect Speech

1 3aBnanHs (20 6aniB) He € 000B’I3KOBUM.

2 3aBaaHHsg — 25 OaiiB:

Buxonanug MKP Ne 5

MonynpHa KOHTpOJIbHA poOoTa ckinanaeThes 3 30 3aBaanb. KoxkHe 3aBmaHHs
0,83 OGaym. MoaynbHa KOHTPOJbHA POOOTAa BBAXKAETHCSA 3apPaxOBaHOIO, SKIIO
HaJaHO MiHIMYM 18 mpaBUIBHMX BiAMOBIIEH.

Axmo 3axoau 000B’S3KOBUX (POPM KOHTPOJIIO BUKOHYIOTHCS CTYACHTOM
MICTsl CTPOKIB, BU3HAYEHHUX Y TIPOrpaMi HaBYAJIbHOI IUCIUIUTIHHU, KIJTBKICTh OaliB,
0 MOXKE€ OTpUMATH CTYACHT, HE MOxke mepeBuiryBatd 60% Bing MaKCHUMAaJIbHO
MO>KJIMBOI JUTSI 11i€1 JOPMHU KOHTPOJIIO.

Ominka 3a okpemi (200 yci) MOAYINI 3HMXKYEThCS Y pa3i MPOMYCKIB 3aHITh
CTYJIEHTOM. 3a KOKHE MPOMYIIECHE 3aHATT 3HWXKY€eThCs 0,5 Oanu, ane MiHIMalbHA
OIliHKA MICJISl 3HXKEHHST HEe MOoXe OyTH Huxk4a 60% BiJ MaKCUMaJIbHO MOYKJIUBOI.

MaxkcumanbHa cyma 000B’s3k0BuX 6amis 3 3M-I15 — 25 Ganis.

2 3apmaHHs (25 6aniB) € 000B’ I3KOBUM.

4. Metoauka npoBEJIEHHS Ta OIIHIOBAHHSA KOHTPOJBLHOTO 3axoay it 3M-I16.

MiHiMaabHUH 00cAT 0a30BUX 3HAHD, 1110 HEOOX1AHUH I 3acBocHHS 3M — I16:
— YWMTaTH, TEepeKanaTH Ta nepekasyBatu Tekctu “‘Decision-making on the
Solution of Ecological Problems”;
— BHW3HAYaTH XapaKTCPUCTHUKHU BXKUBAHHS Ta MEPEKIaAy TPaMaTHYHUX SBHUII]

3a Temoro Conditional Sentences (Type O, I, II, I11);
— HaBuMTHCS yTBOproBaTH Ta BxxuBatu Conditional Sentences (Type O, I, II,
11);

— BH3HAYaTH XapaKTEPUCTUKH BXKMBAHHS Ta MEPEKIaay rpaMaTHUHUX SBHUII]
3a Temoro Subjunctive Mood. Revision;

— HaBYHUTHCS YTBOpIOBAaTH Ta BxkuBaTh Subjunctive Mood. Revision;

— YHTATH, IEPEKIAJaTH Ta aHOTOBAHO MEPEKa3yBaTH TEKCTH 3a (haxOBOIO
TEMaTHKOIO.
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MakcumanabHa cyma 6ajiiB 3a 000B’s13k0Bi 3ax0aAu KOHTpOa 3 3M-II6 — 25
0aJiB:

1 3aBnaunsg — 20 OamiB:

JuB. Tabm. 2.2

a) 4(1+1+1+1)
1 — yuTaHHA TEKCTY aHTTIHCHKOI0 MOBOIO
1 — cicok He3HAHOMUX CIIIB Ta iX TepeKIa
1 — ycHuil nepekaa TEKCTy
1 — nmepekas TekcTy

b) 4(1+1+1+1)
1 — yuTaHHS TEKCTY aHTJIIHCHKOIO MOBOIO
1 — cicok He3HAHOMUX CIIIB Ta iX MepeKia
1 — nucpbMOBE BUKOHAHE Summary
1 — ycue Summary

c) 4(1L+1+1+1)
1 — yuTaHHA TEKCTY aHTJIIHCHKOI MOBOIO
1 — ciucok He3HAMOMMX CJIIB Ta 1X MepeKiIaa
1 — nmuceMoOBE BUKOHaHE Summary
1 — ycue Summary

d) 4(2+2)
2 — MMChbMOBHI KOHCIEKT mpaBui 3a Temoro Conditional Sentences (Type O, I, Il,

1)

2 — MHChbMOBO BHKOHAaHHI rpamMaTW4Hi BrpaBu 3a Temoro Conditional Sentences
(Type O, I, 11, I11)

e) 4(2+2)
2 — MMCHbMOBHI KOHCIIEKT MpaBuiI 3a Temoro Subjunctive Mood

2 — MMCHhMOBO BHKOHAHHI rpaMaTHYHI BIpaBu 3a TeMoro Subjunctive Mood

1 3aBmanHs (20 0aniB) He € 000B’ I3KOBHM.
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2 3aBaaHHsg — 25 OaiB:

Buxonanug MKP Ne 6

MoynbHa KOHTpOJIbHA poboTa ckianaeThes 3 30 3aBnanb. KoxxHe 3aBnaHHA
0,83 Oamu. MoaynapHa KOHTpOJIbHA POOOTa BBaXKAETHCS 3apaxOBaHOO, SKIIO
HaJlaHO MiHIMYM 18 npaBuiIbHUX BIAIOBIICH.

Axmo 3axoaw 000B’S3KOBUX (POPM KOHTPOJIIO BHKOHYIOTHCS CTYACHTOM
HIiCJIsl CTPOKIB, BUBHAYEHUX Y MPOTpamMi HaBYAIbHOI AUCHUIUIIHY, KITBKICTh OariB,
0 MOXX€ OTPUMATH CTYACHT, He MOXe mepeBuiryBaT 60% Big MakCUMalIbHO
MOXJIMBOI1 JUIs 11i€1 (HOPMU KOHTPOIIO.

Ominka 3a okpemi (200 yci) MOAYNI 3HMXKYETHCS Y pa3i MPOMYCKIB 3aHAThH
CTYJIEHTOM. 3a KOXKHE MPOMNYIIEeHEe 3aHATTA 3HIKYeThes 0,5 Oanu, ane MiHIMaiabHa
OIIIHKA TICIIsl 3HUKEHHA He MOke OyTH Hibk4da 60% BiJ MAaKCUMaJIbHO MO>KJIUBOI.

MakcumanbHa cyma 000B’s13k0BUX 0aiiB 3 3M-I16 — 25 Gasis.

2 3aBnanHs (25 6aiiB) € 000B’A3KOBUM.

4. MeToauKa NPOBEICHHS TA OIIHIOBAHHSA CEMECTPOBOIr0 KOHTPOJILHOI'Q
3aX0JYy.

KoHTpob MOTOYHNX 3HAHb BUKOHYETHCS Ha 0a31 HAKOMUIYBaJIbHOI CHCTEMU
opraHizailii HaB4YaHHs.

daktryHa cyma OaniB, SIKy OTPHUMY€ CTYJIEHT 3a TEBHUN 3MICTOBHUUN
MOJYJIb, MAa€ CKJIAJIaTUCA 13 pe3yJbTaTiB BUKOHAHHS 3aXOJIB 3 KOHTPOJIIO, IO
3aIJIaHOBaHI 3a MM 3MICTOBHHUM MOJyJIEM, Ta YPaxOBYBAaTH CBO€YACHICTh
(HampuKIaM: CTYIEHT, SKUM TIPOMYyCTHB KOHTPOJIBHUM 3axif ©0e3 MMOBaXKHUX
npuYuH a00 OTPUMAaB HE33JOBUIbHY OIIHKY, Ma€ TMpaBO y TWKHEBHA TEpPMiH
BUKOHATH 3aBJaHHS 1IbOTO 3aX0/1y 3 MAKCUMAJIbHOIO CyMOIO 0alliB, €KBIBaJICHTHOIO
OLIHIII He Ol HIX "3a40BUIBHO")  BHKOHAHHS CTYJIEHTOM TIpadiky
HABYAJILHOTO TPOIIECY.

Cymu OaniB, sIKI OTpUMaB CTYJEHT 3a BCiMa 3MICTOBHUMHU MOJYJISIMH HaB-
YaJIbHOI JUCHUIUIIHU, (POPMYIOTH KUIBKICHY OIIHKY (Oajn yCHIIIHOCTI) 3a
MiCYMKaMH TOTOYHUX KOHTPOJIOIOYUX 3aXOMAIB CTyJAeHTa 3 HaBYAJIbHOI
TUCIHMIUTIHK. Pe3yipTaT TOTOYHOTO KOHTPOJIO 3aHOCATHCSA IO IHTErpaibHOI
BifoMoOcTi. PimieHHss mpo JOMyCcK CTyAeHTa 1O MiJCYMKOBOI'O CEMECTPOBOIO
KOHTPOJIIO 3 KOHKPETHOI HaBYaJIbHOI JUCIHUIUIIH perjiaMeHTyeThesl [lomoxkeHHs M
PO MPOBEACHHS MiICYMKOBOI'O KOHTPOJIIO 3HAHb CTYACHTIB.

CTyleHT BBaXXa€TbCS JAOMYIIEHUM [0 MIJCYyMKOBOIO CEMECTPOBOTO
KOHTPOJItO0 (iCTIUTY), SIKITO BIH BHKOHAB BC1 BUAM POOIT, mependadeHi poOoUuoro
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HABYAJIHHOIO TPOTPAMOI0 TUCIHUILIIHK 1 HAOpaB 3a MOJYJIHHOIO CHCTEMOIO CYyMY
6ainiB He meHIIe S50 (50%) Big MakcUMalbHO MOXKJIMBOI (000B’sa3k0Ba yactuHa 100
OaJTiB) 3a MPaKTUYHY YACTHHY.

[1icyMKOBUM KOHTPOJIEM 3HAHb CTY/ICHTIB € iCHHT.

Ex3amenariiina poOoTa cKiajmaeTbes 3 4 3aBaaHb. | 3aBAaHHS OLIHIOETHCS B S50
OaniB, 2 3aBaanHsa B 20 OaniB, 3 3aBmanug B 10 OamiB 1 4 3aBpanng B 20 Oamis.

Ex3amenariiina po60Ta BBaXKa€THCS 3apaxoBaHOIO, AKIIO CTYJACHT HaOpaB MIHIMYM
50 Gamnis.

OJIECEKUM NEPXKABHUU EKOJIOITYHUM YHIBEPCUTET

(roBHE HaMEHYBaHHSI BUILIOI'O HABYAJIbHOTO 3aKJIaly)

PiBens BuIOi ocBiTH: Marictp
CrnemianpHicth: 103 «Hayku npo 3emion,  Cemectp 11
HasyanpHa gucruiutiga: IHozemMHa MoBa 3a npodeciiiHUM CIIpSIMYBaHHIM

EK3AMEHALINHUMA BUIET Ne 1

1. Grammar Test 50 6.

2. Translate the text and put 5 questiontoit. ... 20 6.

3. a)Translate the text and entitleit ... 10 6.
b) Give a brief summary of the text (not more than 3 sentences)

4. Write about “My scientific interests” ... 20 ©.

3arBepakeHo Ha 3acinanHi kadenpu CI'H

[Tpotokon Ne  Bimg*“__” 20 poky
3aBinyBau kadenpu, rojioBa HMKJIOBOI KOMicii IloroBa-Hikosaenko I'. B.
(migumc) (Tpi3BHILIE T 1HIIIATH)
Ex3amenarop

(miamnunc) (npi3BHIIE Ta iHiLIaTH)

Jlo icruTy MOMyCKAlOTHCS CTYACHTH, yV SKUX (paKTHYHA CyMa HAKOIMYCHUX 3a
ceMecTp OalliB 3a MPAaKTUYHY YacTUHY ckiajac He meHme 50% (50 o0axiB). B
IHIIIOMY BHITaJIKy CTYACHT BBAKAETHCS TaKHMM, 1110 HE BUKOHAB HABYAIBHOTO TIAHY
JTVCLUIUTIHY, 1 HE JIOMYCKAEThCS /10 ICIIUTY.

OrriHKa 3a AUCIUILTIHY PO3PaxOBY€ETHCS 3a (HOPMYIIOH0:
I1O =0,5 (OM + OIIK)
ne OM — kinpkKicHa oIiHKa (y BIJCOTKaX BiJ MaKCUMajdbHO MOXJIMBOI) 3aXOJ1B

koHTpoto CPC y Mi>kceciiHMM Mepio/;
OIIK — omiHKa MiJICYMKOBOT'O KOHTPOJIIO (ICTIHT).
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[To mucruILIiHI, SIKa 3aBEPIIYETHCS ICIIUTOM, CTYJICHT CKJIa/Ja€ MUChbMOBUI
ICIIUT, SIKUM OINHIOETBCS 3rigHO ,,Ta0nuil 1 BH3HAYEHHS KUIBKICHHUX
MOKAa3HUKIB YCHIITHOCTI 32 MACYMKaMH 1CIIUTY :

KutekicTh 3a CHUCTEMOIO Busnauenus )
i ) 3a HaIlOHAIBHOIO
OaJiB YHIBEPCUTETY
) ; CHCTEMOIO
3a 1CIIUT (y BiicOTKax)
1 2 3 4
BIIMIHHE BWKOHAHHS JIMIIE 3
90 - 100 90 - 100 HE3HAYHOIO KUTBKICTIO 5 (BigMiHHO)
IIOMHUJIOK
BHUIIIE CEPEAHBOrO pIBHI 3
82 - 89 82 - 89 MIHIE — ceped p 4 (106pe)
KUJIbKOMa [OMMWJIKAMH
B 3arajJbHOMY  IpaBHJIbHA
74 - 81 74 - 81 poboTa 3 TIEBHOK KIUIBKICTIO 4 (mobpe)
rpyOorX NOMHIIOK
HEIOTaHo, ajie 31 3HA4YHOIO )
64 -73 64 -73 . 3 (3a/10BUJIBHO)
KUIBKICTIO ITIOMHJIOK
BUKOHAHHS 3aJ0BOJIbHIE 3 (3a10BLIBHO
60 - 63 60 - 63 IKOHAHH 2 (3an )
MiHIMaJIbHI KPUTEPIi
35-59 35-59 3 MOKJIMBICTIO TIEPEKIIACTH 2 (He3a0BIJIBHO)
3 000B’SI3KOBMM IIOBTOPHHUM | 2 (HE3aJOBUILHO
1-34 1-34 p (nesan )

KYpPCOM HaBYaHHS

3araipHa KUIBKICHA OIIHKA € YCepeaAHEHOI MK KUIBKICHOK OI[IHKOO

NOTOYHUX KOHTPOJIOOUKX 3aX0AiB (rpada 3 BIAOMOCTI) Ta KUIbKICHOK OIIHKOIO
CEMECTPOBOI0 KOHTPOJIIOYOro 3axony (rpada 4 BiZOMOCTI) 1 BUCTaBISETHCS Y
rpadi 5 3a51iKOBO-EK3aMeHaIlilH1 BIJOMOCTI (3arajibHUi 0ai yCHilIHOCTI).

SIKIo CTYyAEHT 3a MiICYMKaMH ICIIUTY OTPUMAB 3arajbHy KiJIbKICHY OLIIHKY
meHme 50% (Big MakCUMaJIbHO MOXJIMBOI Ha €K3aMEHi), TO BHKJIajgayeM
BUCTABIIAE€TbCS Yy rpadi S5 3aranbHUil 0an yCHIIIHOCTI, KW JOPiBHIOE OaJry

ycnimHocTi Ha icnuTi (rpada 4).

IIkana ouinoBanHs 3a cucremorw EKTAC Ta cucremoro yHiBepcuretry

3a HaIlOHAIIEHOK CHCTEMOIO

3a cucteMor

3a mKasnor .

ECTS ' ' YHIBEpCHTETY
JUIS 1ICTIATY JUIS 3aJ11KY (B mponeHTax)

A 5 (BiZIMiHHO) 3apaxoBaHO 90 - 100

B 4 (mobpe) 3apaxoBaHO 82 - 89

C 4 (mobpe) 3apaxoBaHO 74 - 81

D 3 (3a70BUIBHO) 3apaxoBaHO 64 -73

E 3 (3a70BUIBHO) 3apaxoBaHO 60 - 63

FX 2 (He3a10BUTFHO) HE 3apaxOBaHO 35-59

F 2 (He3a10BUIBHO) HE 3apax0oBaHO 1-34
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3. PEKOMEHJIAIII 1O CAMOCTIHHOI POBOTH CTYJEHTIB

3.1.  Mooyab 3M-II3 “The Ecosystem”, “Famine and flood ”, The Infinitive;
nepexnao mekcmy 3a (haxom ma nepexnao CycnilbHO-NOAIMUYHO20 MEKCMY 3
AH2NTUCLKOI HA YKPAIHCLKY MOB).

Jlitepatypa: [1, c. 45 -55], [2, c. 38-42], [5, c. 73-84]

3.1.1. [ToBuanHus

a) Text A. “The Ecosystem”. “Famine and flood”.

. [IpounTaT TEKCT aHIITINCHKOIO MOBOIO.

. BunucaTu 3 TekcTy HOBI ClioBa Ta 3p0OUTH X MEPEKIIa/l.

. YCHO mepeK1acTu TeKCT 3 aHTJIHCHKOI Ha YKPaiHChKY MOBY.
. [lepeka3atu TEKCT.

AW N —

b) JdomamiHe ynranus. [lepeknan TekcTy 3a dhaxom.

. CaMocTiifHO BUOpATH TEKCT 3 aHTJIOMOBHOTO TeKcTy 3a (haxom (8000 ap.3HakiB)
. BunucaTu 3 TekcTy HOBI ClIOBa Ta 3pOOUTH iX MEPEKIal.

. YCHO nepeKIacTy TEKCT 3 aHTJIHChKOI Ha YKPaiHChKY MOBY.

. [TucemoBe Summary.

. YcHe Summary

DN AN W=

c) JlomarHe yuTaHHs (MEPEKIIaz CyCIiIbHO-TOTITHYHOTO TEKCTY)

. CamocTiifHO 00paTu TEKCT 3 aHTJIOMOBHOI razetu (2500 mp.3HaKiB)
. BunucaTu 3 TekcTy HOBI ClIoBa Ta 3p0OUTH X TIEPEKIIaI.

. YCHO nepeKIacTu TEKCT 3 aHIJIMChbKOT Ha YKPaiHChKY MOBY.

. [TucemoBe Summary.

. Ycre Summary

DN BN WN -

d) Grammar:
The Infinitive

1. 3poOuTH KOHCIIEKT MpaBUJ BXXKUBAHHS 1HPIHITUBY Ta HOro GopM y aKTUBHOMY
Ta TaCUBHOMY CTaHax.
2. BukoHaTu TpeHyBaJIbHI IpaMaTUYHI BIPABU.
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9.

3.1.2. IlutaHHs 17151 caMOIIepeBIpPKU

What is an ecosystem?

What are autotrophic beings?

What are heterotrophic beings?

What are the processes that autotrophic beings use to produce organic material
from inorganic substances?

What is the primary energy source for life on earth?

What is the main means by which autotrophic beings obtain energy?

Which is the autotrophic group responsible for the production of most part of
the molecular oxygen of earth?

In the ecological study of food interactions, what are the autotrophic beings
called?

How are the heterotrophic beings divided in the ecological study of foo
interactions?

10.What are primary consumers?
11.Can a food chain present quaternary consume: without having secondary or

tertiary consumers?

12.Can a tertiary consumer of one chain be a primary or secondary consumer of

another chain?

3.2.  Mooyab 3M-IT4 “Global Warming ”, “Kyoto Revisited ”, The Gerund;
nepexknao mekcmy 3a axom ma nepexiao CyCcnilbHO-NOAMUYHO20 MEKCMY 3
AH2NTUCLKOI HA YKPAIHCLKY MOB).

Jlireparypa: [1, c. 55 - 64], [2, c. 47-50], [6, c. 94-100]

AW N~

DW=

3.2.1. IloByanHus

a) Text A. “Global Warming”. “Kyoto Revisited”.

. [IpounTaT TEKCT aHIMMINCHKOIO MOBOIO.

. BunucaTu 3 TekcTy HOBI ClIOBa Ta 3pOOUTH iX MEPEKIa/l.

. YCHO mepeK1acTu TEKCT 3 aHTIHChKOI Ha YKPaiHChKY MOBY.
. Ilepeka3atu TekcCT.

b) lomarine yntanns. Ilepekian TeKCTY 3a haxom.

. CaMocCTiiiHO BUOpATH TEKCT 3 aHTJIOMOBHOTO TeKcTy 3a (haxom (8000 ap.3HakiB
. Bunucatu 3 TeKCTy HOBI CJIOBa Ta 3pOOUTH iX MEpEKIal.

. YCHO mepeKIacTu TeKCT 3 aHIJIIIChKOT Ha YKPaiHCHKY MOBY.

. [TucemoBe Summary.
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5. Ycue Summary
c) JomaiHe yuTaHHs (IEPEKIaj] CYCIiIbHO-TIOJIITHYHOIO TEKCTY)

1. CaMoOCTIHO 00paTH TEKCT 3 aHTJIOMOBHOI razetu (2500 np.3HaKiB)
2. BunucaTu 3 TeKCTy HOBI CJI0OBa Ta 3pOOUTH X MEpeKIal.

3. YCcHO nepeks1acTu TeKCT 3 aHTIHChKOI Ha YKPaiHChKY MOBY.

4. [TucpmoBe Summary.

5. Ycue Summary

d) Grammar:
The Gerund

1. 3poOuUTH KOHCIIEKT MpaBUJI BXKUBAHHS T€PYH/III0 Ta HOro (HOpM Yy aKTUBHOMY Ta
MaCUBHOMY CTaHaX.
2. BukonaTtu TpeHyBalibHI IpPaMaTH4HI BIPABH.

3.2.2. [lutanHs U151 caMOIIepeBIpKU

What is one of the biggest threats facing the planet?

What is the cause of temperature’s rising?

What have the researchers gathered over the past 20 years?

What is the global warming?

Do you know the real size of mankind’s contribution to the warming trend?

How should greenhouse-gas emissions be abated?

What is in a new paper for the Copenhagen Consensus project examined?

Avre rising temperatures capable of causing great economic harm-though a lot?

How much would total economic damage fall on farmers?

10 Why could farmers no longer use some lands?

11.What does Mr. Cline investigate?

12.What is the Kyoto treaty?

13.What would a global carbon tax encourage?

14.Why do many rich countries refuse to sign the Kyoto treaty?

15. Does the last policy recognize that predictions of climate change encompass a
wide range of scenarios? Why?

16. What can you say about the possible damage costs?

17.Do you know three possible remedies?

18.Are given figures huge and very speculative?

©CoNoRWWNE

3.3. Mooyas 3M-IT5 “Natural Wonders of the World ”, The Participle, Indirect
speech; nepexnao mexcmy 3a ¢haxom ma nepexnad cycniibHO-NOJIMULHO2O0
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meKcmy 3 aH2UCbKOI Ha YKPAIHCbKY MOB).

Jlitepatypa: [1, ¢. 65-79, ¢. 91-101], [2, c. 42-47, c. 61-62], [4, c. 360-383], [6,
c. 84-94]

3.3.1. IloBuanHs
a) Text A. “Natural Wonders of the World .

. [IpounTaTu TEKCT aHTIAIICHKOIO0 MOBOIO.

. Bunrcatu 3 TeKCTy HOBI ClTOBa Ta 3pOOUTH iX MEPEKIIAI.

. YCHO MepeKIacTy TEKCT 3 aHTJIMChKOI Ha YKPaiHChKY MOBY.
. [lepeka3atu TEKCT.

N WP —

b) JdomamiHe ynranus. [lepeknan TekcTy 3a dhaxom.

. CaMocCTiiiHO BUOpATH TEKCT 3 aHTJIOMOBHOTO TeKcTy 3a (haxom (8000 ap.3HakiB
. Bunricatu 3 TeKCTy HOBI clIoOBa Ta 3pOOUTH iX MEPEKIIa/l.

. YCHO mepeK1acTu TeKCT 3 aHTJIHCHKOI Ha YKPaiHChKY MOBY.

. [TucemoBe Summary.

. Ycae Summary

DN BN WN -

c) JlomamrHe ynTaHHs (MIEPEKIIa CyCIUTbHO-TIOTITHYHOTO TEKCTY)

. CamocTiifHO 00paTH TEKCT 3 aHrJIOMOBHOI razetu (2500 1p.3HaKiB)
. BunucaTu 3 TekcTy HOBI CJIOBa Ta 3pOOUTH iX MEpEeKIal.

. YCHO mepeK1acTu TeKCT 3 aHTIIHCHKOI Ha YKPaiHChKY MOBY.

. [TucemoBe Summary.

. Ycue Summary

N B W N =

d) Grammar:
The Participle

1. 3poOUTH KOHCIIEKT PaBUJ BXXKUBAHHS IENPUKMETHUKA Ta HOTO popM y
aKTUBHOMY Ta MaCUBHOMY CTaHaX.
2. BukoHaTu TpeHyBallbHI FPaMaTH4YHI BIPABH.

e) Grammar:
Indirect speech

1. 3poOUTH KOHCTIEKT NMpaBUJ BXKUBAHHS YMOBHHUX PEUEHb Ta iX CTPYKTYpHU
noOy/10BU B PEUEHHSIX.
2. BukoHaTu TpeHyBaJIbHI IpaMaTUYHI BIPABU.
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3.3.2. ITuTaHHs 1719 cCaMONePEeBIPKU

=

What does the Victoria Falls offer?

Who reported the existence of the Falls?

When did David Livingstone reported the existence of the Falls to the outside
world?

What is the Hunters Road?

What does the list of commercial activities include?

What can you say about the Grand Canyon?

What can you say about the John Wesley?

What did John Wesley write about the Grand Canyon?

9. What can you say about the Colorado river?

10.What is Gorge?

11.What is Vishnu schist?

12.How many years ago did Grand Canyon form?

13.What other magnificent wonders of the world do you know?

14. When did the region become more politically stable?

15.Why are new activities emerging and why is the industry becoming more and
more sophisticated?

w N

N oA

3.4. Mooyaw 3M-IT6 “Decision-Making on the Solution of Ecological
Problems ”, The Conditional sentences (Type 0, I, I, I11), Subjunctive mood,;
nepexknao mekcmy 3a axom ma nepexiao CyCcnilbHO-NOAMUYHO20 MEKCMY 3
AH2NTUCLKOI HA YKPAIHCLKY MOB).

Jlitepatypa: [1, ¢. 80-91, c. 101-115], [2, ¢. 52-55, c¢. 59-60], [6, c. 106-138]
3.4.1. [loBuanHus
a) Text A. “Decision-Making on the Solution of Ecological Problems”
. [IpounTaT TEKCT aHIMINCHKOIO MOBOIO.
. Buniucatu 3 TeKCTy HOBI CJIOBa Ta 3pOOUTH iX TEpEKIIa/L.

. YCHO mepeK1acTu TEKCT 3 aHTIHChKOI Ha YKPaiHChKY MOBY.
. Ilepeka3atu TekcCT.

AW N~

b) lomarine yntanns. Ilepekian TeKCTY 3a haxom.

. CaMocTiiiHO BUOpATH TEKCT 3 aHTJIOMOBHOTO TeKcTy 3a (haxom (8000 ap.3HakiB)
. Bunucatu 3 TeKCTy HOBI ClIOBa Ta 3pOOUTH 1X MEPEKIal.

. YCHO mepeKIacTu TeKCT 3 aHIJIIIChKOT Ha YKPaiHCHKY MOBY.
. [TucemoBe Summary.

DW=
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5. Ycue Summary
c) JomaiHe yuTaHHs (IEPEKIaj] CYCIiIbHO-TIOJIITHYHOIO TEKCTY)

1. CaMoOCTIHO 00paTH TEKCT 3 aHTJIOMOBHOI razetu (2500 np.3HaKiB)
2. BunucaTu 3 TEKCTy HOBI CJIOBA Ta 3pOOUTH X TIEpEKIal.

3. YCcHO nepeks1acTu TeKCT 3 aHTIHChKOI Ha YKPaiHChKY MOBY.

4. [TucpmoBe Summary.

5. Ycue Summary

d) Grammar:
The Conditional sentences (Type 0, I, 11, 111)

1. 3poOUTH KOHCTIEKT MPaBUJI BYKUBAHHS YMOBHHUX PEUEHbB Ta iX CTPYKTYpH
noOyZI0BU B PEUCHHSX.
2. BukoHaTH TpeHyBaJIbHI 'PaMaTUYHI BIPABH.

e) Grammar:
Subjunctive mood.

1. 3poOUTH KOHCIIEKT MPaBUJI BXKMBAHHS YMOBHHUX PEUYEHB Ta 1X CTPYKTYpHU
MoOYy/I0BU B PEUCHHSIX.
2. BukoHaTu TpeHyBaJlbHI FpPAMaTH4YHI BIPABH.

3.4.2. IlutanHs U1l caMOTIEPEBIPKU

=

Is it possible to speak about the target behavior of a system in a certain
environment?

Why must we obtain necessary information?

What do you know about anthropo-ecological system?

What is the difference between the target behavior and adaptation of behavior?
What can we say from the viewpoint of social economic development?

Why must the barriers of natural conditions be learned?

What do you know about the process of cognition of natural and social laws?
What are trajectory variants?

What is one of the serious problems of the decision-making process in the
solution of ecological problems?

10.What have many scientists already agreed?

11.In what solution does all branches of natural and social sciences intervene?
12.1s this certainly a generally acceptable view?

13.With what does its implementation meet?

14.What is the main problem of the specialized terminology?

15.Why do conflicts occur among specialists?

WCoNORWN
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16.What is another problem of such inter-disciplinary cooperation?
17.Why is this discussion totally pointless?
18.What have we to realize?

4. IMTAHHSA A0 3AXOA1IB IOTOYHOI'O, IIACYMKOBOI'O
TA CEMECTPOBOI'O KOHTPOJIIO

4.1. I'pamaTu4Hi 3aBIaHHS 10 MOJIYJIBHOI KOHTPOJIbHOI po6oTH Moayiis 3M-I13.

Module control work Ne 3

[2, c. 38 —42], [3, c. 85— 100]

I. Grammar Test (The Infinitive)
Put the right form of the Infinitive:

1. There is nothing (to done). [2, c. 38 — 42], [3, c. 85— 100]

2. You'll have to attend preparatory courses to be able (to enter) the university. [2,
c. 38 —42], [3, c. 85 -100]

3. He is said (to leave) school. [2, c. 38 — 42], [3, c. 85 — 100]

4. What is your opinion about the steps (to take) in order to help the pupils in their
studies? [2, c. 38 —42], [3, c. 85— 100]

5. They must (to argue) about the right occupation to choose. [2, ¢. 38 — 42], [3, c.
85— 100]

6. (To teach) is a responsible task. [2, c. 38 — 42], [3, c. 85 — 100]

7. My sister is glad (to teach) English. [2, c. 38 — 42], [3, ¢. 85 —100]

8. I'msorry (not to help) you. [2, c. 38 —42], [3, c. 85 —100]

9. It seems (to rain) since the very morning. [2, c. 38 —42], [3, c. 85 — 100]

10.They are glad (to be taught) by such outstanding teachers. [2, c. 38 — 42], [3, c.
85— 100]

11. I'm sure very soon | shall be sorry (not to speak) with you about it. [2, c. 38 —
42], [3, c. 85— 100]

12.When she felt worse, she was sorry (not to consult) the doctor. [2, c. 38 — 42],
[3, c. 85— 100]

13.1 know that when | return to town in autumn, my friend is sure (to work) at her
thesis. [2, c. 38 —42], [3, c. 85— 100]

14.0ur teacher is glad (to teach) such clever students. [2, c. 38 — 42], [3, c. 85 —
100]

15.She is said (to write) a new book. [2, c. 38 — 42], [3, c. 85— 100]

16.Why didn't you (to come) yesterday? [2, c. 38 — 42], [3, c. 85— 100]
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17.1 am sorry (to wait for) you for the whole evening. [2, c. 38 — 42], [3, c. 85 —
100]

18.1 intended (to show) you my collection of snapshots. [2, c. 38 — 42], [3, c. 85 —
100]

19.They are said (to be) rather good. [2, c. 38 —42], [3, c. 85 — 100]

20.Tomorrow | shall be busy: I expect (to read) for the examination all day long.
[2, c. 38 —42], [3, c. 85 —100]

21.The examination is said (to be) very difficult. [2, c. 38 — 42], [3, c. 85 — 100]

22.0ur students are very glad (to give) consultations. [2, c. 38 — 42], [3, c. 85 —
100]

23.I'm so glad (to give) the necessary explanations at the last consultation. [2, c. 38
—42],[3, ¢. 85 -100]

24.He ('to know) to speak English well. (SIC) [2, ¢.40-42], [ 3, c.94-97].

25.She is said (to work) much. [2, c. 38 — 42], [3, c. 85— 100]

26.My father is considered (to make) an extraordinary discovery. [2, c. 38 — 42],
[3, c. 85 —100]

27.This man is believed (to achieve) much in the field of science. [2, c. 38 — 42],
[3, c. 85 —100]

28.She is sure (to come). [2, ¢. 38 — 42], [3, c. 85— 100]

29.He didn't seem (to hear) the news. [2, c. 38 — 42], [3, c. 85— 100]

30.My friend happened (to be) at home. [2, c. 38 — 42], [3, c. 85 - 100]

31.She didn't prove (to be) a well-read person. [2, c. 38 — 42], [3, c. 85 — 100]

32.The mother is certain (to return) soon. [2, c. 38 —42], [3, c. 85— 100]

33.She is not likely (to do) it. [2, c.40-42], [ 3, ¢.94-97].

34.Sandra managed (to find) a solution. [2, c. 38 — 42], [3, c. 85— 100]

35.His language skills seem (to improve). [2, ¢c. 38 — 42], [3, ¢. 85 — 100]

36.Andrew hates (to get up) early in the morning. [2, c. 38 — 42], [3, c. 85— 100]

37.Dave agreed (to meet) his friends at the café tomorrow evening. [2, c. 38 — 42],
[3, c. 85 —100]

38.1 can’t stand (to live) in the countryside. [2, c. 38 — 42], [3, c. 85 — 100]

39.What are you going to do after (to finish) school? [2, c. 38 — 42], [3, c. 85 —
100]

40.Mike warned his sister not (to come) back late. [2, c. 38 — 42], [3, c. 85— 100]

41.We usually learn (to read) at school. [2, c. 38 — 42], [3, c. 85— 100]

42.Ann didn’t know what (to answer). [2, c. 38 — 42], [3, c. 85— 100]

43.George practices (to swim) twice a week. [2, c. 38 —42], [3, ¢. 85— 100]

44.My dad gave up (to smoke) a long time ago. [2, c. 38 —42], [3, c. 85 — 100]

45.1 would like (to visit) Brazil this summer. [2, c. 38 —42], [3, c. 85— 100]

46.Ken failed (to make) new friends at school. [2, ¢c. 38 —42], [3, c. 85— 100]

47.Have you ever thought of (to grow) your own fruit and vegetables? [2, c. 38 —
42], [3, c. 85— 100]
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48.We arranged (to return) back home on 10 of June. [2, c. 38 — 42], [3, c. 85 —
100]

49.1 happened (to wait) for the bus when the accident happened. [2, c. 38 — 42], [3,
c. 85—100]

50.You must (to joke). [2, c. 38 —42], [3, c. 85— 100]

51.We (to wait) for ages. [2, c. 38 — 42], [3, c. 85— 100]

52.1f you had run a bit faster, you would (to win). [2, c. 38 — 42], [3, c. 85 — 100]

53.1 am glad (to hear) it. [2, c. 38 — 42], [3, c. 85 — 100]

54.He seems (to write) much. [2, c. 38 — 42], [3, c. 85 — 100]

55.He is reported (to write) a new novel. [2, ¢. 38 — 42], [3, ¢. 85— 100]

56.She ought (to tell) the truth. [2, c. 38 — 42], [3, c. 85 — 100]

57.This house seems (to rebuild) already. [2, c. 38 —42], [3, c. 85— 100]

58.1 don’t (to understand) this text. [2, c. 38 —42], [3, c. 85— 100]

59.1 happened (to ask) her about you when you came in. [2, ¢. 38 — 42], [3, c. 85 —
100]

60.He seems (to ask) wrong people. [2, c. 38 —42], [3, c. 85— 100]

[1, c. 45-46]
1. Fill the gaps:
The Ecosystem

The ecosystem is defined as a unit of biosphere which has the structural and
functional aspects. It consists of the community and physical environment

including interactions between them. It was in the year 1935 by the
Tansley.
The can be temporary which includes the rain water pond. It

can be permanent also. They may be natural which includes the rivers. They are
also manmade which includes the aquarium. It can be small which includes the
pond or a drop of water. It can be large which includes the ocean. There is a small
ecosystem own as the micro ecosystem. The distinct community consisting of
number of species forms an ecosystem.

The ecosystem consists of two components which are known as the biotic
and abiotic. The biotic component includes the autotrophs, heterotrophs and the
reducers. They form the living members of an ecosystem. These are
related by the food mainly. The food transfers the matter and energy to the outside
world. The autotrophs are also known as the producers. They make the food by the
process of photosynthesis from the . They not only make their food
but also r the other organisms. They absorb the energy from sun and convert into
the chemical energy. They release oxygen. The organic compounds release energy
during . They are also referred as the transducers as they can
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one form of energy to the other form. The organic compounds which are formed
play an important role in of bodies and help in the release of energy.
They maintain the ratio of gases which help to maintain the balance of :
The heterotrophs are not able to make their own food. It includes the zooplankton,
larvae, bugs, higher animals and vertebrates. They are also as the
consumers. They are of different types. Basically, they are of herbivores and
carnivores type.

A) ecosystem, B) introduced, C) components, D) respiration, E) the building,
F) known, G) different, H) inorganic materials, 1) nature, J) convert.

4.2. 'paMaTuyH1 3aBJaHHS 10 MOIYJIBHOI KOHTPOJIBHOI poO0oTH Moty 3M-I14.

Module control work Ne 4
[2, c. 47 —50], [3, c. 113 — 123]
I. Grammar Test (The Gerund)
Put the right form of the Gerund:

1. 1 don't like (to sit) in a room in such weather. [2, c. 47 —50], [3, c. 113 —123]

2. When will the (sit) of the literary circle be held? [2, c. 47 — 50], [3, c. 113 —
123]

3. You can find the sender's address at the (begin) of the letter. [2, c. 47 — 50], [3,

c. 113 -123]

(To walk) is very useful. [2, c. 47 — 50], [3, c. 113 — 123]

You may finish this discussion after my (to leave). [2, c. 47 — 50], [3, c. 113 —

123]

6. After (to finish) their homework the children went out to play. [2, ¢. 47 — 50],

[3,c. 113 —-123]

The telephone is (to ring). [2, ¢. 47 —50], [3, c. 113 — 123]

8. What do you mean by (to come) to the lesson without reading the story? [2, c.
47 -50], [3, c. 113 - 123]

9. On every floor of the hotel there are rooms for (to wash). [2, c. 47 — 50], [3, c.
113 - 123]

10.They enjoyed (to sit) in the sun and (to bath) in the river. [2, c. 47 — 50], [3, c.
113 - 123]

11.There is no hope of our (to get) home before 7 o'clock. [2, c. 47 —50], [3, c. 113
—123]

o b

=~
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12.He returned home after a year's absence, it was a happy (to meet). [2, c. 47 —
50], [3, ¢. 113 - 123]

13.1 like (to invite) friends to my house. [2, c. 47 —50], [3, c. 113 — 123]

14.The mother got angry (to see) such a great disorder. [2, c. 47 — 50], [3, c. 113 —
123]

15.She was proud (to see) this famous writer. [2, c. 47 — 50], [3, ¢. 113 — 123]

16.1've no objections (to be asked) about it. [2, c. 47 — 50], [3, ¢. 113 — 123]

17.She's quite sure of (to ask) him about his travel. [2, c. 47 —50], [3, c. 113 — 123]

18.1 do not like (to attract). [2, c. 47 — 50], [3, c. 113 — 123]

19.Soames had the peculiar to (feel) of having overdone his own honesty. [2, c. 47
—50], [3, c. 113 - 123]

20.At every school she went she learned (to draw), besides being taught by her
father at home. [2, c. 47 —50], [3, ¢. 113 — 123]

21.1t is historically true. | loathe (to have) to admit it. [2, c. 47 — 50], [3, c. 113 —
123]

22.1t's no good to (try) to keep him here. [2, c. 47 —50], [3, ¢. 113 — 123]

23.She kept on (to laugh) at father. [2, c. 47 —50], [3, c. 113 — 123]

24.She stopped (to cry), looked up, said nothing. [2, c. 47 — 50], [3, c. 113 — 123]

25.1 like (to invite) friends to my house. [2, ¢. 47 — 50], [3, ¢. 113 — 123]

26.The mother got angry (to see) such a great disorder. [2, c. 47 — 50], [3, c. 113 -
123]

27.1 have no objections to (to ask) about it. [2, c. 47 — 50], [3, c. 113 — 123]

28.(To travel) is a very pleasant thing. [2, c. 47 — 50], [3, ¢. 113 — 123]

29.1 don’t like the idea of (to walk) in the rain. [2, c. 47 —50], [3, c. 113 —123]

30.After (to leave) her umbrella in the hall, she entered the living-room. [2, c. 47 —
50], [3, ¢. 113 - 123]

31.What do you mean by (to come) to the lesson without (to read) the story? [2, c.
47 -50], [3, c. 113 - 123]

32.0n every floor of the hotel there are rooms for (to wash). [2, c. 47 — 50], [3, c.
113 - 123]

33.He felt better for (to write) the letter. [2, c. 47 — 50], [3, ¢. 113 — 123]

34.She enjoyed (to give) parties. [2, c. 47 — 50], [3, c. 113 - 123]

35.1 remember laughing aloud, and the laugh (to carry) by the wind away from me.
[2, c. 47 —50], [3, c. 113 — 123]

36.Nobody can go on (to live) without some belief. [2, c. 47 — 50], [3, c. 113 —
123]

37.1t is awfully hard work (to do) nothing. [2, c. 47 — 50], [3, c. 113 — 123]

38.My friend is fond of (to swim). [2, c. 47 — 50], [3, c. 113 — 123]

39.At every school she went she learned (to draw) besides (to teach) by her father
at home. [2, c. 47 —50], [3, ¢. 113 — 123]

40.1 like (to make) people happy. [2, ¢. 47 —50], [3, c. 113 — 123]

41.No one could pass in or out without (to see). [2, c. 47 —50], [3, c. 113 — 123]

42.She denies (to speak) with him. [2, c. 47 — 50], [3, c. 113 — 123]

43.1t is no use (to tell) like that to me. [2, c. 47 —50], [3, c. 113 — 123]

26



44 .He turned at (to hear) her footsteps. [2, c. 47 — 50], [3, c. 113 — 123]

45.He has no right to come bothering you and your father without (to be invited).
[2, c. 47 —50], [3, c. 113 —123]

46.Tom went on (to whitewash). [2, c. 47 — 50], [3, c. 113 — 123]

47.He did not remember (to see) in that room. [2, c. 47 — 50], [3, ¢. 113 — 123]

48.The child deserves (to praise). [2, c. 47 —50], [3, c. 113 — 123]

49.1t looks like (to rain). [2, c. 47 —50], [3, ¢. 113 — 123]

50.1 hope you will forgive me (to disturb) you. [2, c. 47 —50], [3, c. 113 — 123]

51.1 said something about my clock (to be) slow? [2, c. 47 —50], [3, c. 113 — 123]

52.1 do not remember (to hear) the legend before. [2, c. 47 —50], [3, ¢. 113 —123]

53.Are you quite sure of those words (to refer) to my brother? [2, c. 47 —50], [3, c.
113 - 123]

54.Do not forget (to shut) the windows when you leave home. [2, c. 47 —50], [3, c.
113 - 123]

55.1 am fond of (to give) presents. [2, c. 47 —50], [3, c. 113 — 123]

56.1 am fond of (to be given) presents. [2, ¢c. 47 — 50], [3, ¢. 113 — 123]

57.You are responsible for (to give) him that job. [2, c. 47 — 50], [3, ¢. 113 — 123]

58.1 am sorry for (to be given) such a small scholarship. [2, c. 47 —50], [3, c. 113 -
123]

59.0ne can (to learn) a lot by reading. [2, c. 47 — 50], [3, ¢. 113 — 123]

60.She (to be surprised) at my coming. [2, c. 47 — 50], [3, ¢. 113 — 123]

[1, c. 55-56]
1. Fill the gaps:

Global warming looms, in many people’s minds, as one of
threats facing the planet. Over the past 20 years researchers have gathered evidence
that the burning of fossil fuels is causing temperatures to rise. However, the exact
pace of global warming, as well as the size of mankind’s to the
warming trend, remain uncertain. Aside from these issues is the question of
precisely how greenhouse-gas emissions should be abated, assuming that they need
to be reduced at all. In a new paper for the Copenhagen Consensus project,
William Cline of the Centre for Global Development and the Institute for
International Economics these topics.

Rising temperatures are capable of causing great economic harm-though a
lot depends not just on how big future rises prove to be but also on how quickly
they happen. One estimate is that a doubling of atmospheric of carbon
dioxide would cost between 1% and 2.5% of global GDP, depending on what
kinds of damage you include.

One study from America’s Environmental Protection Agency the
possible costs. Around a quarter of the total economic damage would fall on
farmers, who could no longer use some lands. Around a sixth of the total cost
would come in the form of increased cooling costs for homes and offices (net of
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the reduced costs of heating). Rising sea levels, damage to drinking-water

and heatwaves would each account for 10%. Deforestation and rising
ozone pollution together would another 10%. And the economic estimates
exclude the “amenity value” — the price people would be willing to pay to avoid
rising for reasons of convenience.

Yet totting up such Is far from straightforward. That is because
applying cost-benefit analysis to climate change is harder than for most public-
policy - many of the benefits will not be realized for decades or
centuries, while the costs of abatement will be felt today.

A) listed, B) examines, C) supplies, D) figures, E) the biggest, F) questions, G)
add, H) temperatures, 1) contribution, J) concentrations.

4.3. 'pamMaTuyH1 3aBJaHHS 10 MOIYJILHOI KOHTPOJIBHOI poO0oTH Moty 3M-II5.

Module control work Ne 5
[2,c.42-47,¢.61-62], [3,c. 44 - 47,c. 100 — 113]
I. Grammar Test (The Participle, The Indirect speech)

Put the right form of the Participle or put the right form of the verb in the Indirect
Speech:

1. Is this seat (to take)? [2, c. 42 — 47], [3, c. 100 — 113]

2. The man (to stand) at the door helped the old woman to get off the bus. [2,
c.42—47],[3,c. 100 —113]

3. (To see) that he was late he took a taxi. [2, c. 42 — 47], [3, c. 100 — 113]

What is this instrument (to use) for? [2, c. 42 — 47], [3, ¢. 100 — 113]

5. Watches and cameras (to make) in Japan are very popular all over the world. [2,
c. 42 —47],[3, c. 100 — 113]

6. (To take) the child by the hand she hurried to the kindergarten. [2, c. 42 — 47],
[3, c. 100 — 113]

7. (To receive) a letter, | usually answer it at once. [2, c. 42 — 47], [3, c. 100 —
113]

8. While (to prepare) for an examination, he always studies in the reading-hall. [2,
.42 —47],[3, c. 100 — 113]

9. While (correct) the students' test-papers, the teacher underlined the mistakes
with a red pencil. [2, c. 42— 47], [3, c. 100 — 113]
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10. (To correct) by the teacher regularly, the exercises are very useful to the
students. [2, c. 42 — 47], [3, c. 100 — 113]

11. (To correct) the test-papers, the teacher returned them to the students. [2,
.42 —47],[3, c. 100 — 113]

12.(To be corrected) by the teacher yesterday, the students' test-papers will be
returned to them today. [2, c. 42 — 47], [3, c. 100 — 113]

13.(To hear) the sounds of music, they stopped talking. [2, c. 42 — 47], [3, c. 100 —
113]

14.This is a church (to build) many years ago. [2, c. 42 — 47], [3, ¢. 100 —113]

15.While (to examine), the boy could not help crying. [2, c. 42 — 47], [3, c. 100 —
113]

16.Where is the boy (to throw) the stone? [2, c. 42 — 47], [3, ¢. 100 — 113]

17.(To prescribe) the medicine, the doctor went away. [2, c. 42 — 47], [3, c. 100 —
113]

18.(To show) the wrong direction, the travelers soon lost their way. [2, c. 42 — 47],
[3, c. 100 — 113]

19.Time (to permit), we will go for a walk. [2, c. 42 — 47], [3, ¢. 100 — 113]

20.The treaty (to sign), trade was at once resumed. [2, c. 42 — 47], [3, c. 100 — 113]

21.The day (to be) finer and a little warmer than the previous one, he went out
again. [2, ¢c. 42 - 47], [3, ¢. 100 — 113]

22.(Not to understand) the rule, he made many mistakes. [2, c. 42— 47], [3,
c. 100 —113]

23.(To finish) the book, I had a holiday. [2, c. 42 — 47], [3, c. 100 — 113]

24.While (to understand) your problem, I don’t know how I can help. [2, c. 42 -
47], [3, ¢. 100 — 113]

25.(To find) only in the Andes, the plant is used by local people to treat skin
diseases. [2, c. 42 — 47], [3, c. 100 — 113]

26.(To wait) six weeks for the washing machine to be delivered, | decided to
cancel the order. [2, c. 42 —47], [3, ¢. 100 — 113]

27.A line (to see) through this crystal looks double. [2, c. 42 — 47], [3, c. 100 —
113]

28.(To open) her eyes, the baby began to cry. [2, ¢c. 42 — 47], [3, ¢. 100 — 113]

29.(Not to understand) the rules, | found the cricket match boring. [2, c. 42 — 47],
[3, c. 100 — 113]

30.(To be) unemployed, Ben spent a lot of time filling in job application forms. [2,
c.42—47],[3,c. 100 —113]

31.Some people wish they (can) appear on a TV game show and become famous.
[2, c. 52 - 55], [3, c. 61 — 62].

32.She often wishes things (to be) different. [2, c. 52 — 55], [3, c. 61 — 62].

33.1 wish I (to buy) that grey hat instead of this one. It was more expensive, but the
quality was much better. [2, c. 52 — 55], [3, c. 61 — 62].
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34.1t looks like raining, | wish we (to take) our umbrellas. [2, c. 52 — 55], [3,
c. 61 —62].

35.The child is crying, | wish | (to know) how to calm her. [2, c. 52 — 55], [3,
c. 61 —62].

36.1 wish you (to finish) your work already. We could go for a walk now. [2,
c. 52 —-55], [3, c. 61— 62].

37.1 wish | (to know) it was your favourite writer. | would have bought the book
for you. [2, c. 52 — 55], [3, c. 61 — 62].

38.1 wish I (to know) French. [2, ¢. 52 — 55], [3, c. 61 — 62].

39.She fell and broke her leg. I wish she (to be) more careful. [2, ¢c. 52 — 55], [3,
c. 61-62].

40.1 wish you (to read) more English books in future. [2, ¢. 52 — 55], [3, c. 61 —
62].

41.1 feel sick. 1 wish I (not to eat) all the ice cream. [2, ¢. 52 — 55], [3, c. 61 — 62].

42.They need a singer for the choir. I wish | (can) sing. [2, c. 52 — 55], [3, c. 61 —
62].

43.1 wish 1 (to look after) my parrot better. [2, c. 52 — 55], [3, c. 61 — 62].

44.1 can't remember her telephone number. I wish | (can). [2, c. 52 — 55], [3,
c. 61 —62].

45.1 wish 1 (not to lend) him my car: he has broken it. [2, c. 52 — 55], [3, c. 61 —
62].

46.My watch has stopped. | wish | (to have) a better watch. [2, c. 52 — 55], [3,
c. 61-62].

47.1 feel so tired. I wish I (not to stay up) so late last night. [2, c. 52 — 55], [3,
c. 61-62].

48.My apartment is rather small. | wish | (to have) a bigger one. [2, ¢. 52 — 55], [3,
c. 61 —-62].

49.1 wish 1 (not to spend) all my money last night. [2, c. 52 — 55], [3, c. 61 — 62].

50.1 wish I (to know) the answer to this question. [2, ¢. 52 —55], [3, ¢. 61 — 62].

51.1 wish you (to phone) me yesterday. [2, ¢. 52 — 55], [3, ¢. 61 — 62].

52.1 wish I (to know) then what I know now. [2, ¢. 52 —55], [3, c. 61 — 62].

53.1 wish you (to see) this film. I am sure you would like it. [2, ¢. 52 — 55], [3,
c. 61 —62].

54.1 wish you (to come) earlier. You should have gone to the museum together. [2,
c. 52 - 55], [3, c. 61 — 62].

55.1 wish you (to have) time to read this article. Now you would able to answer all
the questions. [2, c. 52 —55], [3, c. 61 — 62].

56.1 wish you (to see) my friend. [2, ¢. 52 — 55], [3, c. 61 — 62].

57.1 wish | (to know) where you are and what you are doing. [2, ¢. 52 — 55], [3,
c. 61 —62].

58.1 wish I (to be) only joking. [2, c. 52 — 55], [3, c. 61 — 62].

59.1 wish I (not to tell) you about it. [2, c. 52 — 55], [3, c. 61 — 62].

60.We all wished that we (to stop) there. [2, c. 52 — 55], [3, c. 61 — 62].
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[1, c. 66-67]
1. Fill the gaps:

The Grand Canyon

The Grand Canyon of the Colorado River is the largest gorge in the world-a
290-mile-long gash across the face of the Colorado Plateau in Arizona.
Rim to rim, it measures up to 18 miles across, with an average width of 10 miles;
its average depth is one mile. Within this Delaware-size area of eroded rock rise
mountains higher than any in the eastern United States and that dark walls of
gorges of years old. Agent of this scene, the Colorado River drops
2,200 feet over nearly 200 rapids as it roars through the Canyon the Gulf
of California.

Numbers, though, tell only of the canyon's story and merely hint at
the magic of its myriad hues, strata, spires and gorges. The place is more than the
sum of its parts-so much more that neither the eye nor the mind of the beholder can

more than a small part of it at one time. As John Wesley Powell,
whose party in 1869 became the first to traverse the canyon by river, wrote, “You
cannot see the Grand Canyon in one view, as if it were a changeless
from which a curtain might be lifted.”

At the canyon's bottom, a mile below the rim, the Colorado River slices
through Granite. Gorge, some of the oldest rocks visible anywhere on the
earth. Nearly two billion years old, the Vishnu schist is the gleaming black

of a once towering mountain range. Some 500 million years after it
formed, vast rifting and faulting laid it down the tilted, sediments of the
Grand Canyon Series atop schist. Ten distinct layers of sandstone, limestone, and
shale bespeak the advance and retreat of seas, the building up and
wearing down of mountains, the meandering of rivers over 600 million years.

A) encompass, B) toward, C) remnant, D) spectacle, E) millions, F) colorful,

G) ancient, H) exposing, 1) northern, J) part.

4.4. I'pamaTuyHi 3aBJaHHS 10 MOJIYJIbHOI KOHTPOJIbHOI podoTu Moay:is 3M-I16.

Module control work Ne 6
[2, c. 51 -55, ¢. 59 - 60], [3, . 56 — 65]
I. Grammar Test (The Conditional Sentences, The Subjunctive Mood)

Put the right form of the verb in Conditional Sentences or put the right form of the
verb in the Subjunctive mood:
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1. If I (to be free) tomorrow, I shall join you with pleasure. [2, ¢. 59 — 60], [3, ¢.58
—60]

2. If your brother (to be) here now, he will be surprised at your behaviour and |
am sure he would not approve of it. [2, ¢. 59 — 60], [3, ¢.58 —60]

3. If we (to be) not writing this exercise now | should give you my pen. [2, c. 59 —
60], [3, c.58 —60]

4. If it (to be raining) now, the children would not be running about in the garden.
[2, c. 59 —60], [3, ¢.58 —60]

5. If the students (to work) regularly they will pass their exams. [2, c. 59 — 60], [3,
.58 —60]

6. | would come at once, if you (to be) really ill. [2, c. 59 — 60], [3, ¢.58 —60]

7. Ifyou | had met her I (to tell) her about it. [2, c. 59 — 60], [3, ¢.58 —60]

8. If I leave town | never (to tell) my people where | am going. [2, ¢. 59 — 60], [3,
.58 —60]

9. You will get good results if you (to apply) this method of calculation. [2, c. 59 —
60], [3, ¢.58 —60]

10.1f they (to find) the exact meanings of these words, they will understand the text
easily. [2, c. 59 — 60], [3, ¢.58 —60]

11.1f the wind (to be) favourable, the ship would reach the port of destination early
in the morning. [2, c. 59 — 60], [3, ¢.58 —60]

12.The results of the experiment (to be) much better if he had used the new
equipment. [2, c. 59 — 60], [3, ¢.58 —60]

13. (To be) the vapour cooled below its dew point, some of it would become
liquid. [2, ¢. 59 — 60], [3, ¢.58 —60]

14.Most lakes and rivers would dry up if they (to depend) solely upon precipitation
for their store water. [2, ¢. 59 — 60], [3, ¢.58 —60]

15.1f all the atmospheric moisture (to be) precipitated it would create a layer
averaging only one inch in depth over the entire globe. [2, ¢. 59 — 60], [3, ¢.58 —
60]

16.1f you (not to buy) coffee, we shall drink tea. [2, c. 59 — 60], [3, ¢.58 —60]

17.1f he is free tomorrow, he certainly (to come) to our party. [2, c. 59 — 60], [3,
.58 —60]

18.My brother would not have missed so many lessons if he (not to hurt) his leg.
[2, c. 59 —60], [3, ¢.58 —60]

19.1f my friend (to work) in my office, we should meet every day. [2, c. 59 — 60],
[3, ¢.58 —60]

20.1f you spoke English every day, you (to improve) your language skills. [2, c. 59
—60], [3, ¢.58 —60]

21.1f you get a "five", your mother (to be) happy. [2, c. 59 — 60], [3, ¢.58 —60]

22.1f she (to return) earlier, she would have been able to see him before he left. [2,
c. 59 -60], [3, ¢.58 —60]

23.1f these shoes were not too big for me, I (to buy) them. [2, c. 59 — 60], [3, ¢.58 —
60]
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24.1f you (to ring) me up, I shall tell you a secret. [2, c. 59 — 60], [3, ¢.58 —60]

25.1f you (to be) a poet, you would write beautiful poetry. [2, c. 59 — 60], [3, ¢.58 —
60]

26.1f he did not read so much, he (not to know) English literature so well. [2, c. 59
—60], [3, ¢.58 —60]

27.1f he (to come) to our house yesterday, he would have met his friend. [2, ¢. 59 —
60], [3, c.58 —60]

28.1f he (not to pass) his examination, he will not get a scholarship. [2, ¢. 59 — 60],
[3, c.58 —60]

29.1f she (not to help) me, I should have been in a very difficult situation. [2, c. 59
—60], [3, ¢.58 —60]

30.My father would have more free time if he (not to read) so many newspapers.
[2, c. 59 —60], [3, ¢.58 —60]

31.Some people wish they (can) appear on a TV game show and become famous.
[2, c. 52 —55], [3, c. 61 — 62].

32.She often wishes things (to be) different. [2, c. 52 — 55], [3, c. 61 — 62].

33.1 wish | (to buy) that grey hat instead of this one. It was more expensive, but the
quality was much better. [2, c. 52 — 55], [3, c. 61 — 62].

34.1t looks like raining, |1 wish we (to take) our umbrellas. [2, c. 52 — 55], [3,
c. 61 -62].

35.The child is crying, | wish | (to know) how to calm her. [2, ¢c. 52 — 55], [3,
c. 61 -62].

36.1 wish you (to finish) your work already. We could go for a walk now. [2,
c. 52 -55], [3, c. 61 -62].

37.1 wish I (to know) it was your favourite writer. | would have bought the book
for you. [2, c. 52 — 55], [3, c. 61 — 62].

38.1 wish I (to know) French. [2, c. 52 — 55], [3, c. 61 — 62].

39.She fell and broke her leg. | wish she (to be) more careful. [2, c. 52 — 55], [3,
c. 61 -62].

40.1 wish you (to read) more English books in future. [2, c. 52 — 55], [3, c. 61 —
62].

41.1 feel sick. I wish I (not to eat) all the ice cream. [2, ¢. 52 — 55], [3, ¢. 61 — 62].

42.They need a singer for the choir. I wish I (can) sing. [2, ¢. 52 — 55], [3, c. 61 —
62].

43. | wish | (to look after) my parrot better. [2, ¢. 52 — 55], [3, c. 61 — 62].

44.1 can't remember her telephone number. | wish | (can). [2, c. 52— 55], [3,

c. 61 -62].
45.1 wish | (not to lend) him my car: he has broken it. [2, c. 52 — 55], [3, c. 61 —
62].

46.My watch has stopped. | wish | (to have) a better watch. [2, c. 52 — 55], [3,
c. 61 —62].

47.1 feel so tired. I wish I (not to stay up) so late last night. [2, c. 52 — 55], [3,
c. 61-62].
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48.My apartment is rather small. | wish | (to have) a bigger one. [2, c. 52 — 55], [3,
c. 61 —62].

49.1 wish | (not to spend) all my money last night. [2, c. 52 — 55], [3, c. 61 — 62].

50.1 wish I (to know) the answer to this question. [2, c. 52 — 55], [3, c. 61 — 62].

51.1 wish you (to phone) me yesterday. [2, c. 52 — 55], [3, c. 61 — 62].

52.1 wish I (to know) then what | know now. [2, c. 52 —55], [3, c. 61 — 62].

53.1 wish you (to see) this film. I am sure you would like it. [2, c. 52 — 55], [3,
c.61-62].

54.1 wish you (to come) earlier. You should have gone to the museum together. [2,
c. 52 -55], [3, c. 61 -62].

55.1 wish you (to have) time to read this article. Now you would able to answer all
the questions. [2, ¢. 52 —55], [3, c. 61 — 62].

56.1 wish you (to see) my friend. [2, ¢. 52 — 55], [3, ¢. 61 — 62].

57.1 wish | (to know) where you are and what you are doing. [2, c. 52 — 55], [3,
c. 61 —62].

58.1 wish I (to be) only joking. [2, c. 52 — 55], [3, c. 61 — 62].

59.1 wish I (not to tell) you about it. [2, c. 52 — 55], [3, c. 61 — 62].

60.We all wished that we (to stop) there. [2, c. 52 — 55], [3, c. 61 — 62].

[1, c. 81]
1. Fill the gaps:

Here we come to the important task for in social practice and, at the
same time, to the methodological problems arising in the preparation of such an
inter-disciplinary document. It is not only matter of a 'different language’ of
different scientific methods in individual disciplines, but it sometimes
the debate on the fundamental issues of the scientific work. When has an exact
scientist the right or the duty to come out of the shell of his narrow and countless
verified laboratory to take up an attitude to an issue which is only
vaguely related to his subject, and therefore only lends itself to a
analogy? And yet who has the right to derive such an analogy, if not the specialist
of the respective field?

Consequently, conflicts among specialists of the natural and
social sciences, where each is trying to impose the priorities of his viewpoint as the
'nation-wide' interest. Another problem of such an interdisciplinary IS
the discussion between the analytics and synthetics in each individual scientific
discipline of groups. In social sciences as well there are experts,
specialized in some partial problems, who study the most minute details and, on
the other hand, there are also natural scientists with a broad ecological orientation
and an insight into scientific disciplines. The analytists reproach these
‘encyclopedists' for 'knowing nothing about everything, while the synthetists laugh
at the narrow specialists for 'knowing everything about nothing. The
goes as far as the issue of 'science an non-science, where only exact experimental
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work as scientific, while its processing as a basis for decision-making
is considered as non-scientific compilation.

A) experiment, B) both, C) occur, D) several, E) discussion, F) is considered,
G) concerns, H) science, |) cooperation, J) remote.

4.7. 3aB1aHHS 10 iCTIUTY.

1 3aBmaHHsa
Grammar Test

Insert the proper form of the verb:
. He seems (to work) much. [2, c. 38-42], [3, c. 85-100]
. He is reported (to write) a new novel. [2, c. 38-42], [3, c. 85-100]
. She ought (to tell) the truth. [2, c. 38-42], [3, c. 85-100]
. This house seems (to rebuild) already. [2, c. 38-42], [3, c. 85-100]
. I don’t (to understand) this text. [2, ¢. 38-42], [3, c. 85-100]
. | happened (to ask) her about you when you came in. [2, c. 38-42], [3, c. 85-100]
. He seems (to know) wrong adress. [2, c. 38-42], [3, c. 85-100]
. If you lent me your bag, | (to go) shopping. [2, c. 38-42], [3, c. 85-100]
. 'You could (to ask) me first. [2, c. 38-42], [3, c. 85-100]
10. I am expecting (to give) a pay-rise next month. [2, c. 38-42], [3, c. 85-100]
11. Where is the girl (to read) the book? [2, c.42-47], [ 3, c. 100-113]
12. There (to be) little time left, we took a taxi. [2, c.42-47], [ 3, c. 100-113]

13. (To lose) the key, the boy couldn't get into the house. [2, c.42-47], [ 3, c. 100-
113]

14. Peter left the room (to say) that he was in a hurry. [2, c.42-47], [ 3, c. 100-113]

15. (To think) that he was busy, | decided to call on him later. [2, ¢.42-47], [ 3, c.
100-113]

16. (To graduate) from the university, | decided to return to my home city. [2, c.42-
47],[ 3, c. 100-113]

17. When (to speak) English, pay more attention to the word order. [2, c.42-47], [
3, c. 100-113]

18. (To run) across the field, | fell and hurt my ankle. [2, ¢.42-47], [ 3, c. 100-113]
19. She stood silent, her hands (to press) together. [2, ¢.42-47], [ 3, c. 100-113]
20. The moonlit road was empty, with the cool wind (to blow) in their faces. [2,
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c.42-47], [ 3, c. 100-113]

21. He has no right to come bothering you and your father without (to invite). [2,
c.42-47], [ 3, ¢. 100-113]

22. Tom went on (to whitewash). [2, c. 47-50], [3, c. 113-123]

23. He did not remember (to see) in that room. [2, c. 47-50], [3, c. 113-123]

24. The child deserves (to praise). [2, c. 47-50], [3, c. 113-123]

25) It looks like (to rain). [2, c. 47-50], [3, c. 113-123]

26. | hope you will forgive me (to disturb) you. [2, c. 47-50], [3, c. 113-123]
27. | said something about my clock (to be) slow. [2, c. 47-50], [3, c. 113-123]
28. | do not remember (to hear) the legend before. [2, c. 47-50], [3, c. 113-123]

29. Are you quite sure of those words ( to refer) to my brother? [2, c. 47-50], [3,
c. 113-123]

30. Do not forget (to shut) the windows when you leave home. [2, c. 47-50], [3,
c. 113-123]

31. If you (to go) to Paris you’ll see the Eiffel tower. [2, ¢. 59-60], [3, c. 55-60]
32. What (to do) if you (to find) a treasure? [2, c. 59-60], [3, c. 55-60]

33. If I (to know) you are coming | won’t leave the house. [2, ¢. 59-60], [3, c. 55-
60]

34.1f | (to have) a big house, I ( to invite) friends. [2, c. 59-60], [3, c. 55-60]
35. He (to understand) the message if he knew Spanish. [2, ¢. 59-60], [3, c. 55-60]

36. If the weather (to be) fine, we will celebrate your birthday outside. [2, c. 59-
60], [3, c. 55-60]

37. The parents (to let) me go to the South if | passed exams well. [2, c. 59-60],
[3, c. 55-60]

38. I (to find) those types of papers if | had a little bit more time. [2, c. 59-60],
[3, c. 55-60]

39. If we (to close) the window yesterday, it would not have been so cold in here.
[2, c. 59-60], [3, c. 55-60]

40. If the lady had not stopped the boy, he ( to run) into the van. [2, ¢. 59-60],
[3, c. 55-60]

41. The dog (not to attack) you if you hadn't teased him. [2, ¢. 59-60], [3, c. 55-60]

42. If they (to buy) a new tent, they might not have got wet during the night. [2,
c. 59-60], [3, c. 55-60]

43. You (not to ask) many questions tomorrow. [2, ¢.32-33], [3, . 47-55]
44. This book (to look for) everywhere. [2, ¢.32-33], [3, c. 47-55]
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45. She (to choose) the best actress of this year. [2, ¢.32-33], [3, c. 47-55]

46. She (to help) with the housework now. [2, ¢.32-33], [3, c. 47-55]

47. The fence (to paint) by the end of next week. [2, ¢.32-33], [3, c. 47-55]

48. They often (to laugh) at. [2, ¢.32-33], [3, . 47-55]

49. These plants ( to water) before | came. [2, ¢.32-33], [3, c. 47-55]

50. The logs (to cut) too long for our fireplace yesterday. [2, ¢.32-33], [3, c. 47-55]

2 3aBJIaHHA

I1. Translate and put 5 questions to the text.

In a democratic country like Great Britain the press, ideally, has three
political functions: information, discussion and representation. It is supposed to
give the voter reliable and complete information on which to base his judgement, it
should let him know the arguments for and against any policy, and it should reflect
and give voice to the desires of the people as a whole. Naturally, there is no
censorship in Great Britain, but in 1953 the Press Council was set up. It is not an
official body but it is composed of people nominated by journalists, and it receives
complaints against particular newspapers. It may make reports which criticize
papers, but its reports have no direct effect

The British press means, primarily, a group of daily and Sunday newspapers
published in London. They are most important and known as national in the sense
of circulating throughout the British Isles. All the national newspapers have their
central offices in London, but those with big circulations also print editions in

Manchester (the second largest press centre in Britain) and Glasgow in Scotland.

3 3aBaHHs
I11. a) Translate the text and entitle it

b) Give a brief summary of the text (not more than 3 sentences)

But the best-known among the British national quality newspapers are as

follows.
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“The Times” (1785) is called the paper of the Establishment. Politically it is
independent, but is generally inclined to be sympathetic to the Conservative party.
It’s not a governmental organ, though very often its leading articles may be written
after private consultation with people in the government. It has a reputation for
extreme caution, though it has always been a symbol of solidity in Britain. Its
reporting is noted for reliability and completeness and especially in foreign affairs.
Its reputation for reflecting or even anticipating government policy gives it an

almost official tone.

“The Guardian” (until 1959 — “Manchester Guardian”) has become a truly
national paper rather than one specially connected with Manchester. In quality,
style and reporting it is nearly equal with “The Times”. In politics it is described as
“radical”. It was favourable to the Liberal party and tends to be rather closer in
sympathy to the Labour party than to the Conservatives. It has made great progress
during the past years, particularly among intelligent people who find “The Times”

too uncritical of the Establishment.

“The Daily Telegraph” (1855) is the quality paper with the largest
circulation (1.2 million compared with “The Times’s” 442 thousand and “The
Guardian’s” 500 thousand). In theory it is independent, but in practice it is an
orthodox Conservative paper and as such caters for the educated and semi-
educated business and professional classes. Being well produced and edited it is
full of various information and belongs to the same class of journalism as “The

Times” and “The Guardian”.

IV. Write about “My scientific interests” (15 sentences)
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8.

9.

5. JUTEPATYPA IS BUBYEHHA AUCHUIIJITHA

OcHOBHA
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